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LU (%) 5 10.4 3.7 0.1 14.2 kg 4.4 4.9 1.1 3.7 0.1 JF5 Talce< BI E EL 72 OO 12:45
¥ (%) 1.5 3 1.1 0 4.1| ke 1.3 1.4 0.3 1.1 0 Bl IcALA L®L 5BEO.5 77
39<BLLIYD 4 3.6 1.3 0 4.9 =k 1.5, 1.7] 0.4 1.3 0 |Ei5iF GBE) #Hok (3F<5 &Y4) a¥ i |4 12:00
B (BEE) (Li8) 1.5 1.6 0.6 0 22| =% 0.7 0.7 0.2 0.6 0 XI2A 1469 50%
AHYA 1.2 1.1 0.4 ) 1.5 & 0.5 0.5/ 0.1 0.4 0
a8 0.2 374 132.8 4 510.8 g 160 175/ 39.2 133 4
HUR% | 1.9 0.6 0| 2.5 kg 0.8 09 0.2 0.6 0
t-os | 1.6/ 0.4 0 2 kg 0.7 0.7/ 0.2 0.4 0 (€3]
% 120 0 o o o o o o % 10:30
#2 42k 0.1 0.1 0.1 0 02 = 0 0 o o.l ) @ 11:10
[ FKRBDKHE (FE) ] o0 o0 0 0 0 0 0 [F KRN DHE] 5.5.29
ELY] 5 9.4 3.3 0.1 12.8 kg 4 4.4 I 3.3 0.1 MFAR Kk REXSTAVE
YIFLAMR(8) 5.5/ 10.2 3.7 0.l 14 kg 4.4 4.8 1.1 3.7 0.1 @MBT <FT  LVEPFSmm
BEL\M 13 (8E) 0.3 | 0 0 1% 0.4 0.5 0.l ) 0 AZFHY  VAlFAlcm
BRG] 1.5/ 14.5 5.2 0.3 20 M@ 6.2 6.8 1.5/ 5.2 0.3 BB UTAR HE =BE »Y4
AB(R-EOE-4) 5 9.6 3.4 0.1 13.1 ko 4.1 4.5 1| 3.4 0.1|A% @BEBF £L #@% “waAlFa BE |[EF5x]
BAEVATA 3 111 3.8 0.l 15 P 47 5.2 1.2 3.8 0.1 MEDH20A 53g 60% ;«»guz =L
B (BEE) (Li8) | | 0.4 0 1.4 & 0.4 0.5/ 0.1 0.4 0 B xS |
2WBLEIY 3.2 249 1 0 39 = 1.2 1.4 0.3 1 )
AHYA 1.2 1.1 0.4 0 1.5 & 0.5 0.5/ 0.1 0.4 0
ERE(ZBHE) 0.5 0.9 0.3 0 1.2 kg 0.4/ 0.4 0.1 0.3 0
EHREL(ESL) 20 ) 0 0 0 0 0
#ef-4aih 0.3 0.4 0.2 0 0.6 = 0.2 0.2 o/ o0.2 )




%388 L EB=AAK L EB=AAY [[FULF—T@ANERGIAT |
I TER=AENAE I TER=AENAE *HAL=3A>TLILT > —
pevg 22093 511 26 2630 Ab | BB Ch | & IS B N it NN T B F oy T
ERAHHSL 3 g | 982 877 234 511 26 2,093 511 26 2,630|00/4 2-1 OO/ 5-1
NE[ NZE | hF | shiE | At 982 877 234 664 21 2,093 664 21 2,778|00M 4-1 5-1 O% FAIFIZE
[3L2/50] o0 o 0 0 0 0 0
N 50 0 o 0 0 0 0 0I[#hL—3Ch(New)]  6.2.7 bSO
*ENRAYST S AV BRE
($4) 0o o 0 0 0 0 0 ABHA FERFRSAR OO/ 1-3 |-4
LEFI(RA) 206 o o 0 0 0 0 0/Ic51.6ecm  £EI—FhHy9—
[HL—5Y4 (New)] 0o o 0 0 0 0 0W 77 =) %£2% HE2LLS I
] 15 31.4 10.2 0.3 41.9] kg 14.7 13.2] 3.5/ 10.2 0.3 FEh¥ AL—8 A% K 77
AB(R- % &) 10 21.6 68 0.2 286 kg | 101 9.1 24 6.8 0.2b¥L E0.5 77 LY [FIEEEZ]
Lo L (%) 15 32.4 10.5 0.3 43.2 kg 15.2 13.6] 3.6] 10.5 0.3 H%(Y—RELLIWP) #H54 OO 12:05 A+3
fEaF (%) 30 66.8 21.2 0.7 887 kg @ 31.3 28 7.5 21.2 0.7 <5 HA BE 5-4-1
125 (%) 3 65 2.1 0.1 87 kg 3.1 27 0.7 2.0 0.1 ABYLIA 2169 60%
- OO/ 12:05 4+5
LES3 A8 (%) 0.3 0.8 0.2 0 I kg 0.4 0.3 0.1 0.2 0 -1 () + 1
Al (B53L) 03 06 0.2 0 08 =%k 0.3 0.3 0.1 0.2 0
ARSCAA 60 502 159 5 666 1@ 236 210 56.1 159 5 OO 12:10
HL—8 0.03  0.2] oO.I 0 03 % 0.1 0.1 0o o.l 0 OO 12:10
ZFLINT 1 2.2 0.7 o1 3 kg I 0.9 0.2 07 o.I
wF—x I 4 I 0 5 P 1.9 1.7 0.4 I 0 OO 12:20
N =E7MIL- TL-7 (48) 5 10.6 3.3 0.1 14 kg 5 4.4 1.2 3.3 0.1 OO 12:20 &+
ZARYpILAL— 5 10.6 3.3 0.l 14 kg 5 4.4 1.2| 3.3 0.l 2-2(H)+1 2-3(H)+|
7 AF-IL-97L-7 2| 3.8 1.2 0 5 kg 1.8 1.6 0.4 1.2 0 0O 12:25
EB(EIEE) (L) 1.5 1.7 0.6 0 2.3 & 0.8 0.7 0.2 0.6 o [E1>4597] 5.6.22
FoAhYY—2 I 1| 0.3 o 1.3 & 0.5/ 0.4 0.1 0.3 0 LIAl. 2cm RE200ppm5% HK ®A |9 12:00
H29——2 1.2 1.2 0.4 0 1.6 %K 0.6 0.5 0.1 0.4 0 4£N 1y RE200ppm54 K
2WELEID 0.3 0.3 0.l 0 04 =%k 0.1 0.l o o.l 0 F1/164YF IcmE &4
AL~ 0.01 0.1 0 0 0.1 & 0 0 0 0 0/ k5R209/ ADE, AYt 6 AT I B
&5 0.2 419 133 4 556 g 197 176 46.8 133 4 #AM2m RN AE FA
ILE3(a-8) 0.01 0.2 o.l o 03 P 0.1 0.l 0 o.l W AR N L
AOLors) 35 o o 0 0 0 0 0 *fENETITOY - F
K(Z—=7) 65 o o 0 0 0 0 0 L8 &Y oY ]
(£/542455 ] o0 o 0 0 0 0 ENETN 57g % :82:8
N 45797 L) 15 57.1 18.6 0.6| 76.3 kg 26.8 23.9 6.4 18.6 0.6 @ 11:10
SRAVE I5 17.3 5.5 0.2 23 & 8.1 7.2/ 1.9 55 0.2
LR (L %) 8 17.1 5.2 0.2 22.5 kg 8 7.2/ 1.9 5.2 0.2
Ep3Y (%) 15 32 10.4| 0.3 427 kg 15| 13.4] 3.6 10.4 0.3
Wik 0.3 628 199 6 833 g 295 263 70.2| 199 6 (EF5T)
EE(ZEE) 0.8 1.7 0.5 0 2.2 kg 0.8 0.7 0.2 0.5 0 gbl
et 42 I 1.4 0.4 o 1.8 %k 0.7 0.6 0.2 0.4 0 a2
BEE 1.5/ 1.7 0.6 0 23 =% 0.8 0.7 0.2 0.6 0
&5 0.2 419 133 4 556 g 197 176 46.8 133 4
ILE3(a-8) 0.0l 0.2 0.l o 03 P 0.1 0.1 0 o.l 0




%408 L EB=AAK Y EB=AAK [FLLF-T@NERE
I TER=AERAK I TER=AERAK *MEFERTSA
g 2093] 510 26] 2629 Al B | Cib ¥ % | hER RER | HHE &t SNIN=T+—BTFryT
FERAMEZ xR 4 | 983 876 234 510 26 2,093 510 26| 2,629|00/ 4-1 OO/ 5-1

NENE D R G At 983| 876 234 663 21| 2,093 663 21| 2,777|0% AIFIE
[VOLETIRA(ETIA)] o o o/ [EL7VLETIRA) 6.3.19
RS 70 0o o 0 0 0 0 0| EBHBKTYT  SEZATWT :;‘ib&%%—r)'&*‘i&ﬁ%-‘&
AE(CKRHE) 7 o0 o 0 0 0 0 0 RFMRTARSNTREE(ThSoEM) (trwxR) [OON 4-2 OO 5-1
(2] o o 0 0 0 0  0ULHKRURW ABEA £ smm [EIRD SEHEELA) o
B4 (RA) 206 0 o 0 0 0 0 Ol M IR B Thlce< OLE =B |2
[OLETIRANE] 0o o 0 0 0 0 0| #YA EI.5 IALA @RS L
#BH 12 25.1 8.2 0.3 33.6 kg 11.8) 10.5/ 2.8 8.2 3 TAES B LESY VAFA BE
=X G EERT 1.5 15.7 5.1 0.2 21 @ 7.4 6.6] 1.8 5.1 0.2/hI5SA 60% 599
RSLRTAGS 5 10.6 3.3 0.l 14 kg 5 4.4 1.2 3.3 0.1 ®10:20 @10:40
vLE 1.8 3.8 1.2 0 5 kg 1.8/ 1.6 0.4 1.2 0
S>EZAIR< I5 31.4 10.2 0.3 41.9 kg 147 13.1 3.5 10.2 0.3 (FE-ZEE]
ABHR-EOE-£) 5 10.8 3.4 0.1 143 kg 5.1 45 1.2 3.4 0.l oo '52_:2?,A+3
WA ITA CAR) 3 12 4 0 16 P 5.6 5 1.3 4 0
EHE(=BEE) 1.2 25 0.8 0| 3.3 kg 1.2 1 0.3 0.8 0 OO 12:05 &a+2
EB(EIEE) (L) 3.5 4 1.3 0.1 5.4 X 1.9 1.7 0.4 1.3 0.1 [»F5%754] 6.1.19 QO 12:10 &a+1
EHYA 1.5 1.5 0.5 0 2| & 0.7 0.6 0.2 0.5 0|3.5&X2% 190C ~ METANB | 0 1 oos sk
2WBLESY 3.3 3.3 1.1 0 44 = 1.5 1.4 0.4 1.1 0 /h-%) 40g % 60g (90°CKE)
5T<BLLID 0.7 0.7 0.2 o 09 = 0.3 0.3 0.1 0.2 0/40g 7018 (RZF) 5% (5~6%4) |00 12:20
BHELESL) 20 o0 o 0 0 0 0 60g 5018 (RZF) 5% (6~7%) 00w 12:20
423 0.1 0.l 0 0 0.1 %k 0 0 0 0 0285f10~30%  44EEE  85CHLE 2-2(H)+1 2-3(H) +1
[(hFB754] 0o o 0 0 0 0 0 OO% 12:45
%R 751409 40 2110 0 25 2135 & 991 883 236 0 25
%R 751609 60 0 510 0o 510 M@ 0 0 0 510 0 # 12:00
BiFh 0 0 o %= 0 0 0 0 0
[(FELHZ5H] o o 0 0 0 0 0
BRTFEE 15 31.5| 10.2 0.3 42 kg 14.8 13.2 3.5 10.2 0.3
hy oh o (8) 0.3 3 | 0 4 1.4 1.3 0.3 | 0 )
rERE (%) 15 33.4| 10.9 0.3 44.6 kg 15.7 14 3.7 10.9 0.3 % :8?28
ADEIF(%E) 3/ 7.4 2.3 0.l 9.8 kg 3.5 3.1| 0.8 23 0.1 [FEL&ZH] 5.7.13 @ 11:10
ITER 1.2 5.2 1.6 0.2 77 P 2.4 2.2 0.6 1.6/ 0.2 ZAN%f=\11 /2 EEEMER
B (H385E) (LiR) | 1.2 0.4 0 1.6/ * 0.6 0.5 0.1 0.4 0 ERFRSMR  bhhHKRELE :B#{'ul
KHBZ(FEFE) 2| 4.2 1.3 0| 5.5 kg 2/ 1.8 05 1.3 0/£L Eh¥ 5E Aok SHE(CR) ;\az’l’ z e
EH% 8.2 17.2 5.6 0.2 23 kg 8.1 17.2| 1.9 5.6 0.2 %W # 7 RE Al RUEEH |
K(HZLE) 15 o o 0 0 0 0 0/ KI0A 1579 30~35%
HULEH 1 1.6 0.4 0 2| kg 0.8 0.7 0.2 0.4 0
Ao (HLA) 1 1.6 0.4 0 2| kg 0.8 0.7 0.2 0.4 0
K (L) 120 0o o 0 0 0 0 0




%588 L EB=AAK Y EB=AASK [FLE—]
L FER=AE~ ALK I FER=AENAR 5t L
g 2089 510 26| 2625 A | BN | Cib ¥ % | AER | RER | HHE st
%A A A REE B 979 875 235 510 26 2,089 510 26| 2,625|[BEpIELrDHTH
NE | M | % | g | A 979 875 235 663 21 2,089 663 21 2,773 TKE #5123

(22124 ] o o 0 0 0 0 0 [KDRDHS1EY—2HM]
mX 70 o o 0 0 0 0 0 i#3.5%X2% 190C  |ER50%
KEGRHLE) 7 o o 0 0 0 0 0209 100~130f 5~6%
(48] o o 0 0 0 0 0 152 /35,55e NS, 24EE
EiBAIL(BRA) 206 o o 0 0 0 0 0 *FLITOHBDT. AV EBIFS
(KDBDHS -2V — 250 F] 0 o 0 0 0 0 0 SL{EY 254 4EX0.8 30L sV | [P - BREF]
KNRERT 15 0 o 30 30 M@ 0 0 0 0 30|/iKAlK FYBBLEERY =B OOM 12:25
K7NAEHIF209 20 2110 510 0 2620 1@ 989 884 237 510 0 HYA B RIH-FEHZHNRLLBETENT
i 0 0 0 & 0 0 0 0 o|L&Iv BE OO/ 12:05 &+a
fEhF(£) 8 17.8) 5.4 0.2 23.4 kg 8.3 1.5 2 5.4 0.2 Ani-t
ALK (B3L) 0.2| 0.3 0.l o 0.4 =X 0.1 0.l o o.l 0 OO 12:10 4+
EHE(=E0E) 0.8) 1.7 0.5 o 2.2| ke 0.8 0.7 0.2 0.5 0 OO 12:25
AHYA 0.8/ 0.8 0.2 0 T 0.4 0.3 0.1 0.2 0
EE(BEE) (LR) 2.5 2.9 I 0.l 4 X 1.4 1.2 0.3 I 0.1 OO 12:20 4+1
2W<BLESY 1.6 1.6 0.5 o 2.1 =% 0.7 0.7 0.2 0.5 0 OO 12120 4t 1
x* 4 0 o o o Y Y Y 2-2(B)+ 1 2-3(B)+|
(B IEE0DH%H] o o 0 0 0 0 0
X% BB I 105 3.3 0.2 14 M@ 4.9 4.4 1.2 3.3 0.2 [BESEEcOHZH] 5.5.18 |OOF 12:45
n¥ (%) 1.5 3.4 1. 0 4.5 kg 1.6 1.4 0.4 I.I 0 BAFYY FRFASAZX FE2mm % 12:00
Hy bbhd (E) 0.3 2.5 0.5 0 3 % 1.2 I 0.3 0.5 0 b HKARLEY LOHLAEIISITS
EEMELS(£) 20 46.2] 14.6 0.4 61.2 kg | 21.7 19.4 5.2 14.6 0.4 7Lst &BBIF 5B LoHL 3EO.5
fEnF(£) 15| 33.3 10.9] 0.3 44.5 kg @ 15.6] 13.9) 3.7 10.9 0.3 E% @ik #% bro & BE
Lo (%) 3 70 2.2 0.1 9.3 ke 3.3 2.9 0.8 22 0.1 30% XI10A 1879
3% 8.5 17.8 5.6 0.2 23.6 kg 8.3 7.5 2 5.6 0.2
KHZ 2 4.2 1.3 0 55 kg 2 1.8/ 0.5 1.3 0
HLEH 0.7 1.1 0.4 0 1.5 kg 0.5 0.5 0.1 0.4 0
&b 0.7 1.1 0.4 0 1.5 kg 0.5 0.5 0.1 0.4 0
EE(YEE) (L) | 1.2 0.4 0 1.6/ Xk 0.6, 0.5 0.1 0.4 0
K(BZLE) 15 0 o 0 0 0 0 0 ]
K (L) 120 o o 0 0 0 0 0 % :g;gg
[TEHA (Fr_Y)] o o 0 0 0 ) 0 [TEHA (Fv~RY)] 5.5.18 ® 11:10
H0L(%) 30| 64.6] 20.5 0.6| 85.7 kg | 30.3] 27.1 7.3 20.5 0.6 H¥L KSR A FA
AB(R-HOE-4) 5| 10.8) 3.4 0.1 14.3 kg 5.1 4.5 1.2 3.4] 0.1 AZ F9Y KA AE FA
Fo_Y (%) 10/ 24.3 7.7] 0.2 32.2 kg @ I1.4 10.2] 2.7 7.7 0.2 ¥v~_Y 5mm KAl A §4 (BF7]
DTl 0.8 1671 510 17 2198 g 783 700 188 510 17 M20A 469 ;‘”;"’2 B
DTE Il 1.2 0.4 0 1.6 &K 0.6 0.5 0.1 0.4 0 B 1 sAEEH
TE(WY) 0.5 | 0 0 I ke 0.5 0.4 0.l 0 0
2 (FY) 0.5 1.5 0.4 oO. 2| ke 0.7 0.6] 0.2 0.4 O.I
nyYz% 1.5 3 I 0 4 kg 1.4 1.3 0.3 I 0
2WBLESW 2 2 0.7 0 27 % 0.9 0.8 0.2 0.7 0
EYE(ZEME) 1 2.0 0.7 0o 2.8 kg I 0.9 0.2 0.7 0




